
Level 7 Test answers 
Use counters and/or stick. 

a)  4 + 2 = 6 
 

b) 10 - 3 = 7 
 

c)  38 – 6 = 32 
 
d)What equals 8?  
 +  = 8                       +  = 8    e.g. 3 + 5 = 8; 10 – 2 = 8;            

 +  = 8                       +  = 8        2 X 4 = 8; 16 ÷ 2 = 8 

 
e) 5 X 3 + 1 = 16 
 
f) 16 ÷ 4 = 4 
 
g) Put these numbers in order from smallest to 
largest: 17, 13, 15, 11, 19 …..   11, 13, 15, 17, 19 
 
h) 6 tens + 4 ones = 64  
 

i) 5 ones and 7 tens = 75 
 

j) Which numbers are missing? 4, 6, 8, 10, 12 
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